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- 2 + i = a)- 2- i) + b

=- 2a + b - ai

· G = - 1
-2(1) + b = - 2

b = - 4

wiz -E) = (1- 3i)(-2+ i-x)
= (1 -3i) ( - 2 + i- -Ei)
= (l- 3i)( - E + =i)

=
- E + ti + ↳i + 1

= 2 + 6i

#



20 = 39+ 26 b =2039: ba then 10-1.5a) a

10 > 2- 5a

Area : A = Ea2() + (2) a < 4

sub in a: 3 .9999

Amax = 22 . 928 = 22 . 93 (4st)
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g(x) is a decreasing function for 1X10.

Hence g is a 1-1 function and thus g" exists

: g(4) = 1 . 5

fg" (1 .5) = f(4) = 7
/



Sn-Sn- = (n3 - Sn - 42)- (2(n - 133 - 8(n -1) - 4(n-1)
= In3 - 8n2 - 4n - (2(n3- 3n+ 3n - 1) - 8(n)- 2n+ 1) - 4n +4)
= - Sn - 4n - 1 - 6n2+ 6n - 2 - 8n + 16n - 8 - 4n +4)

= 6n2 - 22n + 6

N 50n-204 6n2- 22n + 6

5 46 46

7 146146

n = 5
,
7



Sut1
5On-

g I I 196

196/

3n"- 31 - 2n+ 7
① product ofI consecutive # is even

① even even

~ M

- ③ differences between 2 even # is even·atevene
s

Series U : Un = 50n-204

= 2(254 - 102)

All terms in series U are even

All terms in series Ware
odd.

No common terms
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sample as it is 65 out of the total of 90 members

The results from her discussion will be unbiased.

45

45c . 27.c,
Reg Prob =

15. 27c · 18 c + 45c · 22 .8) + 45 cy . 27c . 18c

=



2(x )=

PLA fail ,
Bwin)

= ) ** )2 = =

s() < 1- E

↳
32 < n - 4

36 < n
,
E In



Q R

0 . 1 x (CO)

p(a) + 2 P(r)

0 . 1 + x + x+ 0 . 1 + 0 . 1 + X + (2(2x + 0 .1) = 1

0 . 3 + 3x + 4x + 0. 2 = 1

7x = 0 .5

x = +4

One tailed test as he is investigating whether there is a reduction

Null hypothesis Ho : M = 17 . 3

Alternative hypothesis H: M < 17.3

M denotes population mean number of birds visiting the feeder.



x = 165=18702-=
Under Ho

,
since n is large , by GLT. ,

~N (1 . 3,1) approx

Test Statistic : E: = = 1 . 813

#
Rej Ho if Ecal < -1 . 813

=> p(zc - 1 .8B) = 0 . 0349

mini x = 4

There is sufficient evidence at 2 % level of significance
that the mean number of birds visiting the new bird feeder

has reduced.

No .
As he does not know the distribution

,
he will need a sufficiently large

sample of n mornings ,
ns30 so that by Central limit theorem

,
the sample mean

number of birds visiting the feeder will follow normal distribution.



X v B(6 ,
0 .25)

P(X= x)

0 . 356-..........

0 . 178-....

> x
0123456

No of unsatisfactory pies 0157)+...=P =

total of ples

O Amount of dese distributed in each burger is independent
of other burgers

② Each burger has either sufficient cheese or insufficient cheese.



YvB(120 , 0 . 03)

P(y(3) = P(y=) = 0 . 2984

= 0 . 298
*

28 x 0 . 298 = 8 .356

= 8 days.

Let X denote # of burgers with insufficent cheese

X-B(3360 ,
0 . 03)

P(x > 100) = 1- P(x-100)

= 0. 5057

~ 0 . 506
*



Let X denote mass of plates before drilling X-N(200 , 1 . 63

P(X > 197 ·5) = 0 . 9409-0 . 94/

Let y = 0 . 95X Y-N (190 ,
2 . 3104)

p(190 < y < 192) = 0 . 4058776

Let W denote # of metal plates with masses between 190 to 192

out of 8 plates WrB(8
,

0 . 4058776)

P(w(5) = 1 - P(w(4)
= 0 . 1829

= 0 . 183 *



Y
,

+
. ..

+ Yu N(3800 ,
46 .208)

P) Y ,
+...+ Y< 3805) = 0 . 7689

~ 0 . 769 #

-4 Screws ,
not mass of eachea

Let S & B denote masses of screws & bolts

SuN(10 ,
0 . 3% B-N(44 , 11) Y

,
+...+ YouN(3800 ,

46 .208)

T = S
,
+ ... t Szo + B

,
+...+ Bro + Y , +... +40 N(4880 ,

72 . 208)

Let mass be m in grams

P (T > m) = 0 . 05

P(z)=o485

m = 4893 . 9

= 48949



non-linear r/s.



model p = d + eim gives a better fit as

11 = 0 . 9914 is closer to 1

p = 32 . 952567 + 17 . 2698/m

d 33 . 0

2 = 17 .3

p = 32 . 952567 + 17 . 2698/750

= 505 . 905-506

Reliable ,
as Irl is close to 1 and 750g is

within data range.



*

Gresidual

residual &X

Gresidual

b-f(a) can be negative and summing them will give an erroneous result.

From G. C
.

26 . 75



smaller.

(- 1 + c)2 + (2 . 5 +c) + (1 + x)2 + ( 2 - 5+2)2 + (2 . 5+c)

= 2(1 - x +2) + 2(625 + 5c + 2) + (6 . 25 - 52 + c)

= 5c2 + c + 20. 75

for batter fit 5c + c + 20 . 75 <26. 75

51 + c - 60

(c - 1)(5c +6) o

!
:-




